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| Time © 3 Hours 15 Minutes | [ Full Marks : 100 |

!???&ﬂﬁ.}??‘ F g ﬁfﬁ'ﬂ' ; Instructions for the candidates :

. gdemd? oMR FWT USF T HGAT 1. Candidate must enter his / her
goq gleaewr mH# (10 HFl FI) Question Booklet Serial No.
v fored | (10 Digits) in the OMR Answer’

Sheet,

o gisTEl gurgya 9 vl H 8 2.

Candidates are required to give their
3¢ §/

answers in their own words as far
as practicable.

3 o sk e W RE gu 3iF qUiE 3.
e #ed &1

Figures in the right hand margin
indicate full marks.

4.y @ EEGEE GG & [ 4. 15 minutes of extra time have bee"

qerEl %7 15 e sifafrs qad allotted for the candidates to read
fear T 81 the questions carefully.
5. ¢ 77 gire] ) @vg] H §— @US-H 5. This question booklet is divided into
Vg Gue-a/ two sections — Section-A and
Section-B.
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) Ly i » ¥ -’l:'”ll)"
6. @I H 00 acghre ¥ P, ol 0. n Section-A. there (7€ Kty ohjeetive
‘ [y quf*h‘liurl.‘; f cach carrying

g fa=t :
s0 wyl @1 I AT v vwip i OADR. B

F ) ,? (H(_‘ﬁd; o {?W” 1 . 50 quesf{ ng are to be ﬂnswerﬂd.
iRt &)1 warg @ s $ # First 50 answers will be cvaluated
¢ than

3¢ @ wv ®YH 50 il @l &l by the computer in cdse maor

Hogieh Frge &7 fapar sl el 50 questions are answered. Darken

397 & U Fd T4 OMR 3W the circle with blue / black ball
pen against the correct option on

w1 R i @@ faaen @ A/ _
— L @ oz = frat st OMR Answer sheel provided to you.
. Do not use whitener / liquid /
gy & EAFET [/ vl qered / &8 blade / nail etc. on OMR-sheet,
/S Argq A W—Qﬁﬁr g otherwise the result will be
gaiT FvEr wAT 8 =l qeieT invalid. https:.a"f\mm’w,bscbstudy.com
gfeoma 3ET= &R
7. GUE-H 7 30 oyq Favg v F 7. In Section-B, there are 30 short
(W$W 2 3F Fyifia 2), o answer type gquestions (each
3 fr=t 15 wedl @& I Fr carrying 2 marks), out of which any
Bard &1 579 SR, 59 @S F 15 questions are to be answered.
8&’?‘5( : Wﬁﬁ?(yﬁaﬁ ziir;eimmt this, there fre 8 long
fFfG’ X g 5 P ’%’Tﬁ . ype quest onsl (each
S'H FrIiRa &), q carrying 5 marks), out of which any
) 4 751 @7 I 39 21 4 questions are to be answered.

8. [#a y@R & Forwid 3TH
i W ::_ﬁ,ﬁ- gA FI 8. Use of any electronic appliances is
/ strictly prohibited.
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=usg - 3 [ SECTION - A

aﬂﬁ'ﬁi’ Wy / Objective Type Quest.ionu ' |
mwﬁm:#maaﬁ%mﬂrwwﬂmﬁvﬂv?ﬁﬁ##wwhw
soavat & T ! aﬂ#;mg#wwg?ﬁmaﬁ‘ omyﬁzwf%ﬁﬁﬂaﬁr

Question Nos. 1 to 100 have fo

50 questions. You have to mark your selected option on the OMR-Sheet.

16 O
1. ﬂﬁ'A:[%ﬁ ?:’,B=[5

(a) 1

c 4

_J4a O _l16 0
ra=|% 74 B=[s

(A) 1
(c) 4
2. tan~'1=

3. cos(sec‘] x+cosec 1 x)=
a1
C O

4 cosf) -sin(
' sin{ eos0

(A) cos 20
(€ o

50 x 1 =850

ur options, out of which only one is correct. Answer any

50x1=50

].'ﬂﬁA=B,a’taaﬁm%

B -1

o) W R

], when A = B, then the value of ais

B =1

(D) none of these

® 3
D) %
B) -1
(D) %
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3. C
08 2x di

(sin x + cos x)?
log(sin x + €08 x)+¢C

(A) 2log(sinx+cosx)+¢ (B)
1
(C) log(sinx - cos x)+c (D) e W+c
6. tan'ﬁrcot'1{~ﬁ]=
() ® 9
_n o 3
(C) 5 2
i1 1
7 afs A=[1 1 1}?ﬁ A%=
1 1 1
(A) 24 \}B)/ 3A
Cc) 27A (D) Wﬂaﬁéqﬁ
1
IfA:[l 1 1],thcn A=
1 1
(A) 2A B) 3A
(C) 27A (D)  none of these
- = .
8. a.a=
a) 0 ﬁ/l
-5 ' | -
(€) lal (D)  lal

& |oj=2 3 ra T @ A, @ A T AF §

(B)

3 |
D) T A HE T

(A) 1

C 2
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o —
If |aj=2 and s a is a unit vector then A has the value

a1 (B) ?12

(D) none of these

c 2

— — e i
jrzk &1 HIAT €

10. xi+y
@) xKPryiez’ B -m
© JEryrE P T
x“+y +2
Themodulusofx_i'+y:i)+z;:’is
(A) x2+y2+22 \ V(B‘)’ &2+y2+22

(C) JXx+yt2 \/ﬁf))
ng + y2 + 22

d P -
1 —(te =
1 e (tanx”)
A ~ 2
(A)  sccx \J,Bj/ 2xsec? x°
© 2x%sec? x* (D) sec x%
2x

12.

()

-
) 6 loitx (B) ycosec?x

2
— cosec*x
(C) L (D) cosec?x

2Jcotx o J—t—
cotx
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d . 1
e E‘sm_lwx-q-xan; .............. i 3_;5-‘52
(A) 1 (B)
1 - x*
D)
(C) 3 (
14x2
14, L(sin/x)= 5
OS VA
Jx @ TR
(A) cos )
(D) L cosdr
1 J'.;c_ S
(C) —J:-.COS
X
15. E";t2tan“xl=
2
. (B) =
] + X
2 1+ x* l
1
! (D) o
(C) 21'“ x2) 2 1-x")
f Y
16 _d_l hm x"-a”>=
' dxix—’“ X —-d
= 1
(A) =1 (B)
n
(C) 0 (D)
17 d«—‘i—;sin*IJ_x-J-cos_lJ;} =
(A) 5" B O
: n
X . -
G 1 D)  Jx >
18. _dx _
x -1

(B) ~log|l+xl+k

(A log [x~1]+k
logx+k

\ﬁ log |x-1|+k (D)
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- d?y +2 .'1.52'-34-':):,'-—-‘!'1“)‘##'{2%
eemer GHIET = dx :

19.
(A) 3 (B) 4
c 2 (D) = @ W13 el
= 3
i d” dy gy = sinXx1s
the differential equation [_é;—f] +2(dx) +9y

The order of
JE/ 4

none of these€

(A) 3
© 2 (D)
4
20, X _—1gx=
fx‘2+1
3 B :’i 2x + k
(A) 53—+2x+k (B) i ;
3
3 x
(C) £3-+x+k [,(D’I/T-*x*k
21. TS THEH xdy +ydx =0 F1 EAE
2 2
g S -

2 Y c _
(AJ —2'—+ —2— =k
(C) xy=k (D) ET-DE{ £e] ﬂé ?lﬁ
Solution of the differential equation xdy+ydx =0 is

2
’ \}B( Lz.__y_z_=k
2 2

(D) none of these

(C)  xy=k

Page 7 of 32
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y
X =k
B) )
(A) % =k ( g
3 g T
X . k o
(C) 5"
. ydx—-xdY _o is
1 '___.__—-l——'_'-
Solution of the differential equation y2
X =k
Yok ®
(A) e
(D) none of these€
- X _k
(C) Y

d T
23, aygEel WHIHTT £—+Py=Q 1 GHERe 10T
- pdy
w 9 B o

\,UZ/ t?'rf-’dx [_D]

y o H
i =2 +Py=0Q 18
quation ] Y

Qdy

Integrating factor of the differential e

A) ej’odx | B) E]de
(©) o R D) Jedy
24, J(Kxi)=
HMf/0 B) 1
o J
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: —— =
25. lxy 2l=
e
NERLTEL @ lyx
- = =
— -
(C) (X2 Y] J’}’/izxy]
d . x2) =
26 E—;{e )
i B o
3
(C) ax2e” () 3x%e

d X) =
27. == log3~)

1 By~ log3

o1~ xog3 _ | D) 1

28. i( 1 +e"‘):
: dx\ sinx

(A) e 12 g™ (B) cosecx +e*
sin“ x
(C) - cosecxcotx T e (D) cosecx.cot x +e*
T
29, k X ( 1" x j J:

wﬂ/ﬁ’ | (B) 1

(C) 7 : (D)

Al
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30
) Ilog 2dx =

log‘z + k

(A) x+ k
2! g‘z r K
(€) xlog2 + k (D) x10
31. I SeCX _dx=
sSeC X+ tanx N &
lB] tanx.—sﬁcx
(A) tanx+ secx+k .
anx+
(C) secx+k (D) t
1-cos2X
- J‘l+zosz,x e T TR "
—x+
(A) tanx+x+k (B) tanx
' X4k
(C) x-tan® x+k (D) tan2+
33. Icot2 xdx=
(A) cotx-x+k B)  2cotX cosec x+ K
(C) —cotx-x+K (D) «+cotx+k
w3 ® 9
2 9
© = 9
2 15) Y
35, [l +1)dx=
0 =
8
a3 oy A3
3 (B) 3
13
o =2 .
: 3 D s
D) 3
[121/327 }J :
JJ |(4)-9003-Juo) |  Page 10 of 32

by:BSEBResult.In



2
36. I{;'i cosxdx=

(A) O ® !
© -1 © 3
37. J’{:_XQ;EI_-.
(A)  log2 B  -log2
(C) 2log2 (D) —~2log2
38. j;’glogcote.dc;:
(A)  Slog2 B) glog2
(C) 2nlog?2 o)+ O
n/f2 : N
; 39. Iﬂﬂfﬁ[cosxldx—
a) 2 (B) 1
c) O (D) 4
n/2  cos® _
s I{) cos0+sind Ce
A B ]
(A) s (B) =
X n
€ 3 D 3
41 Ilexdx:
0
(A} e (B} e+ 1
[121/327 | J [(A)]9003-Juo)| Page 11 of 32
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42. _ci_[ Hen cosBx]:

dxt x—=0
1
(A) - sin3x _ (B) .
(C) - 3sin3x (D) g
d —4
43. E[‘[;] .
; ® 3
W I . |
3/2
w5 D) 5%
2Jx
a4,  cos—L(2x)+sinT (2x)= e 2xe[-1,1]
g =
w 3 ® 3
(C) T (D) 0

45. sin"!(-x)=
(B) sin”™’ x

(A) %—sin'lx
-1
() -sinlx (D), H+sin X
46. cot ™! L, J(x>0)
X
<11
(A) -cot™lx (B) tan” &
© tan'x (D)  cot™tx
10 2|_
. |10 2)-
,\‘fﬁ’( 140 (B 70
€) 35 vb) 0
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s [8 9]0 5] -
w [38] @ (3 3]
ox 82 o [11]
a9.  S-(5%)=
(A) 5 @ x5
(C) lfgrs D)  5%.log,S

®  2f; ot dx

(cy O oy 1
x+1 w m2 '
51 afe ozl 03=1 T | © x+0° 1 =0 @ x=
m2 1 X+
(A) 0 . (B) ®
€ o2 (D) T @ HE
x+1 ® w2
If o#1, o3=1and| ® x+ 0% 1 (=0 thenx=
) 1 X+
@ o B o
€ o (D) none of these
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sino cCOS

52. ZIFQ' Az{(‘USll —sinu] 3T A+A'=}2,E‘ﬁ o -

(A) 4 ; (B) _1:5
(©) 1;—‘- (D) %
If A=[‘£3f: “‘jé';g] and A +A'=1l,, then &=
(A) m (B) %
(C) %’1 (D) 16‘;
53, AUE & oo &l A + A FTERE B B
(A)  gufir e @) LB gufia AEE
(C) T ATHE o) T3 TTE

A is a square matrix, then A + A’ is necessarily

a skew symmetric matrix

a symmetric matrix (B)
(C)  a unit matrix \/uaf a zero matrix
54. 4l A:H ?J B:B ﬂ AR A2=B,7 A=
(A -1 B) 1
€ 4 D) T d HE T

r o
IfA—[I 1 B:[é (1)] and A? = B, then A=

A -1 | ® 1

< 4 =3 (D) none of these
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ss. afg A:[(l) ?],Fﬁ

(A) A ) o AT ? B) |AI=0
(©) 41 T ST T E (D) i | B T4
If A=[(1) ?] then

Al A lexists B) |Al=0

(C) A-! does not exist (D)  None of these

56. mﬁmwﬁamﬂﬁﬂﬁﬁw%
(A) 1 By 2
) 3 D) I

The number of unit vector(s) perpendicular to a plane is

(A) 1 B 2
(c) 3 \,UB'}/ infinite
s7. alk @=27-j+2k 3N pA
—‘r—p ; = =
(A) a.b=5 (B) a.b=-35
- .
© a.b=0 D) T A HE T
- = = - — - = = :
If a=2i-j+2k and b=-1i+ j-k,then
- = - >
A) a.b=5 B) a.b=-5
- =
(C) a.b=0 (D) none of these
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() & (D)
50. T x k=
0
(A) 1 (B)
‘}Q’/ 7 19) I
60. ngs .
d-“‘)/ o WP g b
() a.b oK \L - ¢
g1 poa VX e g WXl
1+x ]
.o=1
(A) 2cos™hx _ (B) 2sin ~ X
-1
(C) 2tan™’ x (D) tan  2X
T T — ,[xls%
- 3
() sin”!(4x® - 3x) B) sin '@Bx+4x7)
| e 5
(€  sin~(3x - 4x°) D) sin'(@x” —4x)
63 = tan—l [:-l) —
B X
®

' (A) 3"

M. _% o - D) __%

(A)-9003-J(0) | Page 16 of 32
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; 3 1 -
64. sin{secc l y+cosec” X) =

(A) % (B) 0
© -1 o) 1
1
65 2tan” T+tan'1%=
A 3 B)
(C) 3’5 (D) 2n
1 2 4
66. wURforeE [3 7 9 I HMA ¢
4 8 16
(A) 23 (B) 0
© 1 D) = | e TRl
™Y 4
The valuc of the determinant |3 7 9 is
4 8 16

(A) 23 | By 0

(D) None of these

(C) 1
1 b+c¢
67. '\EIR'FUTHT[] g c+a 1 HA &
1 ¢ a+b
(A) (l1+a+b+c) (B) (a+b+c)
C) 1 D) O
1l a b+c
The value of the determinant (1 b c+a]is
{1 ¢ a+b
(A) (1+a+b+c) (B) (a+b+c)
c 1 e D) O
i
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68,

7 11 13

URfors (17 19 23| wrAE E
29 31 37
(A) -36 B 36
F1§ A&l
(€ 20 o T
7 11 13|
The valuc of the determinant lz'g %;31 %:73 s
(A) - 36 \__iB) 36
(C) 20 (D) none of these
69. TR A=[_% .,H'Fﬁ A% =
A) 34 (B) 4A |
sl 24 o) LT FIS TR
If A=[_} 'ﬂ then A3 =
(A) 34 (B) 4A
(C) 2A (D) none of these
a h g
70: AYE |h b f %
g I e
A)  foug wafaa g8 B) @HE TS
(C) UHrH AR D) T ¥ HE T
a h g
Matrix | h b f|is
g f ¢
[A) skew Smetric matrix v(/Bl/' symmetric matrix
(C)  unit matrix (D) none of these
[ 121/327]J [(A)-9003-Jio) | Page 18 of 32
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7L,

S
s il
© ‘3z
72. ddl_, (sin2x) =
i
(A) 4 sin2x
(C) - 4sin2x
73‘ _d'djt_[ex—(l') =
[A] eX—{I
(C) e”
. 43
o~ B Z(x%)=
dx
A)  4x°
(C) 24 x
75. ?1{1?( x2+.:vc+1) =
x+a
A =
ofx? +ax+1
©) 2x+a
x2+ax+1

' d B
76. dx{Qe )

1
® 73

@A) 2% B &~
d.tj/ 4e%% D) 2"
Page 19 0f 32 .
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d
?? H'“ng“ )=

JM =

(B3} n

1) I
,
}?hfawmuﬁ-aﬂ% .

N 1
(&) i
78, qﬁ A:{a,b,c},B={|,2=3§ 34%71 j‘:—'{(a,l},[b,glrtczz]
Em ;aq'aa}(ﬂﬁ
@A) TR afa:ad (B)
3 FF ATVIRS (D) T

(C)
and f={{a,1},(b,2],{c,2)}

If A:{a,b,c},B:{l,Q,S}

function is /7 .
- 1
(A) onc-one into (B) many=one
10
many-one onio (D) one-one on
> > 3 vt B ?
79. aR f:R >R, ®l f=axald fTx) ffatEd
1 B Le-®
(A) :—3-[x+4} (B) 5
aqarLsTIS

(D)

(C) 3x-4
.i'ollow'mg is f Mol

If f:R — Rsuch that f(x)=3x-4, then which of the

(A)  (x+4) B lx-9)

~,ﬁ(f}/ 3x-4 (D) . undefined

80. Coséc'l (- x)=

z I : (B) - cosec ' x

(A) — — COSec X
(C) cosec”lx . Dy - cosec™'x

[ 121/327 }J [(A)-9003-J@o) | Page 20 0f32
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g1, ax aiD.Ma.b=
Ay 1 ® - '
(c o o) T A PR Al
If @ 1b,then a.b=
() 1 B -1
{C}) o0 (D) None of these
82. T.(Fxk)= .
JM/ 0 (B)
©c -1 (D) 2

83. I]ogxdx=

(A) 3]{”“ B) xlegx+k
(C) xlogx— x+k (D). xlogx+ x+k
A2

84. n =
A) O , V(B)/l
(C) -1 (D) n

e X 5 y o 5 0 R 5 R o, BTy W A

2

(A) cosza+coszﬁ+coszy+1=0 (B) sin “*Sin253+31n21=1

(C) cosga+coszﬁ+cossz=2 _(D} C032G+Cﬂszﬂ+m521=l
If a line makes angles a, pand vy with the positive directions of x, y.and z axes
- respectively, then -

(A) cos” +0032ﬁ+C052 y+1=0 (B) sin? o + sin’ 'i.;>+ sin?y=1

(€} cos?a+cos?p+cos?y=2 (D) cos? a+cos? p+cos® 1=1

(121/327 ] J |(A)-9003-Jwo) Paglc21 of 32
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86, @ @il oy 3y = M ox y 4z & «fra @l & @

(A) n @) O

2

ala

(€) = (D)
O il
2 and 6x - Y-

The angle between the straight lines 2x=3Y="-

B O

(SEY

(A)

(©) D) 7

o=

87. uﬁn,ﬂaﬁ?cﬁhwﬁimﬁﬁ,ﬁ

(A) P(ABC)=P(A)+P(B)+P(C)
B P(ABC)=P(A)-P(B)-P(C)

(C) P(ABC)=P(A).P[B)H{ELC)

D) FH | &L

If A, B and C are three independent events then
(A) P[ABC}=P[A]+P{B]+P(C]
(B) P(ABC]=P(A)—P[B]—P(C]

\}Qj/ P(ABC)=P(A).P(B).P(C)

(D) none of these

88. P(A)+P(A')=
(A 0 B) 1
-1 (D)  P(S)

89. 1-P(A'NB')=

®)  PANB) B PAUB)

(C)  P(A) (D) P(B)

[121/327 ] J [(A)-9003-Jiao) | Page 22 of 32
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Z = 3x + 4y &1 AfusreH HA

Flﬁfiﬁaﬂ'c}ﬁ‘-?x+ys4

Qo

x 20, y20
&
(A) O B 12
© 16 ) TR
The maximum value of Z = 3x +.4y
subject to constrair;ts x+y<4

x20,y20
15
(A) 0 \IE/ 12
(C) 16 (D) - none of these
k. m:ﬁ@%wﬁﬁﬁaﬂmuﬁwﬁﬁ%
(A) E+B-+-C——0 (B) el 1
© Z-%£-2-0 o) T HE T
a c

Standard equation of the plane in intercept form is

o U2 e et

@  Z+diZ=0 B Fryte™
Yy_z_ -
_____ 0 (D)  none of these

(A) 6 (B) 5 JE):
D) T q HIE T

Page 23 of 32
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The distance of the point ( =3, -4

A) 6 ) 5V2
(D) none of thes®
(C) 50
93. (-4.-3.7) 3R (-1, | _5) H A A G E
(A) 12 B 13
8 | 1% Aol
(C) 14 (D)
-51)is
The distance between (-4, =3.7) and (-1, L, )

13
(ay 12 - V(B{/

. e of these
© 14 (D) - non

. 94-_ uﬁ'A 3ﬁTB ﬂUﬁTE{B:I'_ ar P[%)+P[%),—_

(A) O B) 1
cF =1 o) ¥H & T T
A A\_
If A and B be two events then P[§)+ P(-E-)—
Ay 0 [(/E,,/ 1
€ -1 (D) - none of these
95. fg(sin 2x)=
(A)  cos2x (B) C052 2x
(C) 2sin2x (D) 2cosdx

[121/327 1 J [(4)-9003-Juo Page 24 of 32
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d .. o
96. a;{idnkx}—-—

(A) scc? kx
2
sec” kx
’ (C) ™

97. f{x+ 2)dx=

(A)  (x+2)P° +k B Gtk
¢e/ i;—+2x+k D) loglx+2A+k
98. ; dx =
a) 4 ® 2
1
ra o
99 I;”z cosxdx =
(A) I (B) -1
100. Isinx.cosxdx=
] . sinx
(A) 2sm2x+k (B) > +k
i 2
(C) su; X ik (D) 59—5-2—5+k
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w-u;ssc-noﬂkf‘

+1q Iwdg W9 / Short Answor TYP® .

mw?wrj#aoawagsﬁﬁvh;:rﬁﬁw 15
2 d#F Fraffa 21

Question Nos. 1 to 30 are Shor
carmes 2 marks.

N sy
1 Answer Type. Answer

1
¥

J,a‘l AA' T I
2
y

1
x
x2

2 2

1 1 :
Ifﬂz[x yJ.thenﬁndAA-
[x* ¥

'l

B & x 1 A 3G DT

3
2x -y 5)_(6 5)
3 Yy =l3 249
Find the value of x from the following :
2x-y S5)_(6 S
3 Yy =\3 -2/
16 9 7 y
3 AP (23 16 7 | 1AM T H
32 19 13
16 9 7
Evaluate the determinant (23 16 7 |.
3z 19 13
4. Y frawed, 519 x=acos? in?
. o ' x=acos“0, y=asin“0.

_
Find ik when x=acos?0, yzasinQO.

ach gquestj..

251
ny 15 QuUEs ISwz.aﬁ

2
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g x2+y2=3 & [0 (1,V2) W ZTer T |

2+y2=3.

Find the slope at the point (l,ﬁ} of the curve X

a-b b-¢c €c-4a
6. O |b-¢c c-a a-b
c-g a-b b-c

Evaluate the determinant

Evaluate

8.  x-37eT 3R TF y=sinxﬁv'iﬂ?rx=0@x= T o 3 8 1 A i_[ L

Find the area between the x-axis and the curve Y = sinx , from x=0 tc_: X= M.

9. &7 #¢ : tanydx+tanxdy=0.
Solve : tanydx+tanxdy=0.
10, @1 BEF f:R— R onto § SR flx)=2x 2 T

Is the function f:R — R onto function where f(x)=2x ? Give reasons.

Q

11. ﬁ?@'ﬁﬁﬁsinvl‘j_@a=tan_l .28

Prove that sin~! J’; =1;an"1 Jé’c_— i
X+a a

m

[121/327 | J [(A)-9003-Ji40) |  Page 27 of 32

by:BSEBResult.In



12,

14.

15.

16.

| 7

18.

19.

20.

5> > o
Prove that (a+b).(a-b)=

Waﬁ Icoszxdx.

d

2 2x
. __;lr'x }’:___.-—F'"_i'
feg i fo lan[%sin“%ﬁJ-lcos -1":';'5 1-X%
2 2Xx
p ) [ --1!:__{-)5—-:—""5
Prove that [an(%sin".]—-f’ij+—-(.os l+xg 1-X dﬁﬁg‘ :
T .
{“ﬂ dicular to
fgg &t fF | (5, - 42]W[21*“3}q$1_3}arcp=rpﬂ“ Ong
_4 2)and (2
Show that the vectors [ 5
another. . . . . . 47 :
ax b A, seifF a=2i-3k p =31 :
-* -
S s ik RE TEag § kel
F‘indaxb,whcrcaFZI-—Sk, b =3 _’ﬁz-’a; o aﬁ;..'l
b i
afg a =(2,3,-5) R b =(2,2,2).?ﬁﬂﬁ’ﬂ a e
B =(2,2,2), then find the aP€l° Be “on

c_;and ;
=6 B ¢ y{1+xy]dx—xdy=0'
tl+xy)dx-xdy=0-

Solve :
Eﬁﬁ +1 ey,
Solve : L:I~£+1=~‘3Hy-
dx c
0 2 - = - =¥
fag % 76 (a+b).(a-b)=a’-b".
az-bQ.

Integrate ICOSQ p ool 1 &

e ﬁﬁﬂﬁ vd y =sin(log x).

. . d
Find _y, when y =sin(log x).

dx
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Z1.

23.

26.

27.

23.

gl ‘ff} . _\-dy N yd‘ x_l'.p‘-{:l_l,‘.
xdy o ydx xy.dy.

g % T IR A5° st 6O° W1 T
e @I Al 2 2

with the positive dircctio
positive dircction of

Solve
#IE Tel Tal x Myl shl WIS fa

SR B 1 4B 5 3781 F) e faen & e i
o and 607

n of the

A straight line makes angles of 45
{ angle docs it make with the

x and y-axes respectively. Wha

the #axis ?
- . 4 = z m
o7 @1 @Il FId g forad x, y 3N , el T skEUS I 3, 9
g

{ x, y and z arc

_ 58I
Find the equation of the planc whos¢ intercepts on the axces O
rcspectivcly 3, 4 and - 5.

: o |
afs P{A;= . P(B)=- a'ext F[AHB]—-—- Gl p( )aen p( ]fawﬁ
If P{Al——- P(B)--—and P(A[“IB]——— then find P(—— and PL——)

2311113
fag = & (46 20 26
65 45 20
23 11 12
Prove that |46 20 26
65 45 20

dy frepret 519 y= = Jsinvx .
Find g—)‘!‘:, when y=ysinvx .

dy Pl i _sin’x
L3

‘\JCOSI
2

.4 4y sin“ x
Find ==, when y=——=.
e 9™ Josx

>

[ %1
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28. meqaai‘j [ —sin2x dx.

Integratc I ] -sin2x dx. 2

29. [fcestiord) g, W A F
0 X

e cos({log X) ‘
Find the value of IO_——;—— dx i

: /2 -
30. fag 1 o J: logtan xdx =0.

/2 B
Prove that I; logtanxdx =0.

pe Questions

ﬁﬁ'ﬂ Answer Ty
i W31 / Long a;ﬁ;élu?aﬁ%w

mﬁwm#aaé}a‘aﬂﬁum%lgﬂﬁﬁﬁﬁfﬁ4ﬂﬁ

5 3iw Fruaifea &) B
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
guestion carries 5 marks.

al. gl tan'1x+tan“1y+tan_lz=%.T‘ﬁfﬂﬁﬁ% yZ+ZJC+xy=1'

PIPFSRES: (i

S M e i

If tan™! x+tan™! y+ tan ! z=2 , then prove that yz+ zx+ xy=1.

2
_ _ (b + c}2 a® a?
3. PAES FFEE | b2 (c+af b2
c? ¢ (a+b)?
(b+c)?® a? a?
Factorize | b2 (c+a)?® b2
c? 2 (a+b)?
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11

13, fag sifso %
?EF’ (AB) I=B-1A_] ,:ﬂﬁﬁ; A::}l é 13 H=% 5[ S'ZX
g : 1 2 1
r, - 2 5 3
Prove that (AB)™' =B"'A™! , where A=} 12 5 ,B=13 1 %-
119 T

dy "

34. E}-W'W xy*.yx:l‘
Find =— Y - TP

dx,whenx +y- =1.

35 G HEEH #X J’tan‘* .

Integrate Ita.n“ xdx.
36. & W (xﬂ—yglg—i=2xy.

d

Solve : (x2 - y2)SE = .
olve : (x y}dx 2xy

a6 3x+ 4y -5z =2 ¥ |ne a5 (3, 1,,_4}ﬂqfa‘faﬂ:-srmai‘t‘ﬁﬂm

37.
1, - 4) with respect 1o the plane

Find the image of the point (3.
3x 14y -5z =2.

aﬁmﬁﬁﬂtﬁwﬁaﬂmﬁ:

38:

Z =5x+10y

&R x + 2y <120
x+y 260

x-2yz=0

x,y20.

A
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Maximize and minimize Z - 5X* 10y

subject to x+ 2y <120
x-+y260
x-2yz0
x,yz0.
ﬁ
faer A Hafda @afl saratd],
HET YA, 9951 U7, , Ui
BIE, et el +TE,
mmﬁ?mﬁm
Uz Ut & ...
BSEBResult.In

fRffe s (I
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